41

16

130

155

12 -

155

16

38



()

12-124
11-42
4-3
4-3 2543
1,359.45  7,819.46 714.63
403.36  6,033.28 25.87
-1,355.08 66741 -2,253.06
3712 109854  -636.92
15056  573.88  -2,315.08
-831.62 1,127.72  -4,279.80
5715 98377  -566.47
412 6

25,896.45
20,985.44
18,849.22
1,472.03
1,145.50
3,202.55

2,697.06

2543



52

4-4 4-6

8- 118

2543

52

52
155

()
6-54
5- 124

8- 118

40

52



5,205.71
1,331.78

-40,778.90

-616.19
-3,185.41

-4,964.87

-3,573.51

4.2 1

196,717.00
195,549.40

18,849.22

24,326.02
10,141.41

41,572.20

13,950.10

4 -7
2537-2543 ( 2540)
1,978.77
2,648.85

2543

5,120.55
6,610.60

-3,204.64

-636.92
-1,178.33

-1,966.26

-566.47

303.95
25.60

1,337.88

1,098.54
958.39

3,918.91

841.53

257.25

21.76

-533.33

-409.23

-611.14

-960.29

-76.11

41

2,455.06
1,423.48

749.72

301.46
795.64

980.21

897.15



213.75
4-7
2537-2543 (
155 6,931.95
155 4,103.56
155 380.43
155 347.33
4 -8
2537-2543 ( 2540)
8.86
2540 8.13
4-8
2537-2543 (
( )
(xJ
155 51.04
155 7.41
155 33.20

2540)

£

Y

1,108.97
8,910.72 1,978.77
6,752.41 2,648.85

-728.44  -1,108.97
561.08 213.75
5.10
x2 X -X)
59.90 8.86
-0.72 -8.13
38.30 5.10



(ANCOVA) 4 -9 F = 10.662

p-value = 0.001

p-value = 0.001

4-9
2540
Type il Mean
Source of Squares df Square F p-value

Corrected Model 1.439(a) 4 .360 6.307 .000
Intercept 18.262 1 18.262  320.151 .000
Age 041 1 041 722 396
Characteristic .136 1 .136 2.387 123
Size 501 1 501 10.355 .001
Crisis .308 1 .608 10.662 .001
Error 17.398 305 .057
Total 114.220 310
Corrected Total 18.837 309

a R Squared = .076 (Adjusted R Squared = .064)

(ANCOVA) 4 - 10



F = 9.209

Source
Corrected Model
Intercept
Age
Characteristic
Size
Crisis
Error
Total

Corrected Total

a R Squared = .041 (Adjusted R Squared = .028)

F=2.937

p-value = 0.003
Type lll
of Squares df
724(a) 4
021 1
0.000054 1
.066 1
J11 1
512 1
16.963 305
18.034 310
17.688 309
! (ANCOVA)

p-value - 0.088

2540

Mean

Square
81
021

0.000054
.066
11
512
.056

p-value = 0.048

3.256
.386
.001

1.183

2.003

9.209

4-11

p-value
.012
535
975
278

.003



Type lli
Source of Squares df

Corrected Model 10 864(a)

Intercept 14.956 1
Age 120 1
Characteristic 4.249 1
Size 2.021 1
Crisis 5.309 1
Error 551.369 305
Total 601.895 310
Corrected Total 562.232 309

a R Squared = .019 (Adjusted R Squared = .006)

Mean
Square

2716
14.956
120
4.249
2021
5.309
1.808

2540

2540

=
1.502
8.273

.066
2.350
1.118
2.937

p-value

2540

201

797
126
201
.088



46

2540 2540
t-test 4-12
t=-5.000 p-value = .000
t=4.202 p-value = .000
1 )
I
8 2540



43

- 12

4 -

2537-2543 (

39.

13

2540)

155

155

399.19

145.35

2540

t
-5.009
4.292

47

p-value

2541

15.28



4 - 13

155

2537-2543 ( 2540)
155 603.68 1,002.87
155 406.86 391.58
155 824.88 679.54
4 - 14
2537-2543 ( 2540)
0.15
A 4.31
13.55
12.80
4-14
2537-2543 ( 2540)
( )
(Y.) (YY)
155 10.04 10.19
155 6.78 2.47
155 19.13 5.58

7.20 84.80

48

399.19
-15.28

-145.35

-4.31

-13.55

12.80



F = 0.021

p-value = 0.041

Source

Corrected Model

Intercept

Age

Characteristic

Size

Crisis

Error

Total

Corrected Total

p-value

Type lll sum
of Squares

.032(a)

481

.021

.009

.000

.000

1.509

4.713

1.541

a R Squared = .021 (Adjusted R Squared = -008)

(ANCOVA)

= 0.884

df

305

310

309

Mean

Square

.008

.481

.021

.009

.000

.000

.005

1.609

97.225

4.214

1.871

.064

.021

4 - 15

p-value

172

.000

.041

172

.800

.884

49



p-value = 0.006

Source
Corrected Model
Intercept

Age
Characteristic
Size

Crisis

Error

Total

Corrected Total

(ANCOVA)

p-value = 0.024

Type il
of Squares

260(a)

237

.003

107

.003

159

6.367

7.291

6.628

a R Squared = .039 (Adjusted R Squared = .027)

(ANCOVA)

F=3.968 p-value = 0.047

df

305
310
309

Mean
Square
.065
237
.003
107
.003
159
021

- 16

F

3.115
11.332
J41
5.133
163

7.605

F = 7.605

p-value
016
.001
707
.024

.686

.006

17

50



4-17

Type Il Sum

Source of Squares df
Corrected

1.828(a) 4
Model
Intercept 469 1
Age 312 1
Size .001 1
Characteristic .070 1
CRISIS 1.423 1
Error 109.342 305
Total 115.904 310
Corrected

111.170 309
Total

a R Squared = .016 (Adjusted R Squared = .004)
F=0.023 p-value = 0.880

4-18

= 0.038

Mean
Square F

457 1.275
469 1.308
312 871
001 .002
.070 195

1423  3.968
358

(ANCOVA)

p-value

.280

254

351
.965
.659
.047

p-value



4-18

Type lll Mean
Source of Squares df Square
Corrected Model 121.038(a) 4 30 272
Intercept 118.705 1 118.705
Age 109.804 1 109.804
Characteristic 2.420 1 2.420
Size 23.422 ) 23.422
Crisis 578 1 578
Error 7703.085 305 25.256
Total 8014.811 310
Corrected Total 7824173 309
a R Squared = .015 (Adjusted R Squared = .003)
4
2540
4-19
t=3.032 p-value = .003

t

6.343

p-value = .000

=
1.199
4.700
4.348
.096
927
.023

p-value
311
031
.038
757
.336



2540

4-19

53

2540
t p-value
155 3.032 .003

155 6.343 .000



4.4

2537-2543 (

510:

2540)

2540

2540



99.31

1,959.91

9.47
406.13

91.37
1,595.91

248.09
847.82

55



2537-2543 ( 2540)
9 4,258.58  4,268.05
16 8,004.18  9,310.31
9 1,869.78  1,969.09
16 5368.32  7,328.23
9 -349.86  -441.23
16 2,032.73 436.30
9 183.68 431.77
16 -296.67 551.15
2537-2543 (
27.70
86.24

56

9.47

406.13

99.31

1,959.91

-91.37

-1,596.43

248.09

847.82

2540)



p-value =

= -1.468

2540

0.110

2540

19.61
8.39

p-value = 0.156

t = -1.662

57



»

»

2.39

t

-0.717

16

16

16

68.59

254.97

-5.90

125.62

19.01

951

p-value =

2537-2543 (

0.481

96.29

341.22

-25.51

117.23

16.61

-7.61

58

2540)

27.70

86.24

-19.61

-8.39

-2.39

-17.12

t p-value

-1.662 0.110

-1.468 0.156

-0.717 0481

17.12



2540

2540



2540

2540

(

2540

2540)

2540

.

4 - 22

60

2537-2543



129.52

321.41
4-22
2537-2543 ( 2540)
9 365.69 495.21 129.52
16 771.63 450.22 -321.41
9 166.55 226.47 59.92
16 535.62 -211.51 -747.13
9 453.88 - 37.60 -491.48
16 1,041.44 - 1,542.37 -2,583.81

59.92

747.13



491.48

2543 ( 2540)

-1.234 p-value = 0.230

8.69
22.93

62

2,583.81

2537 -

2540



63

2537-2543 ( 2540)
( ) t p-value
. 9 13.63 22.32 8.69
-1.234 0.230
. 16 37.66 14.73 -22.93
. 9 5.67 9.91 4.24
-4.632 0.000
. 16 26.12 -14.34 -40.47
. 9 13.95 7.02 -6.93
-1.449 0.081
. 16 10.33 -14.43 -24.76
. 9 -383.97 5.69 389.67
-0.904 0.375
. 16 -1383.20 -391.94 991.26
4.24
40.47
7
t =

-4.632 p-value = 0.000



(t-test)

p-value = 0.000

t = -1.449

p-value = 0.081

25

2540

t=-4.632

2540

t p-value

-4.632 .000

6.93
24.76

4-23

2540

64



389.67

991.26
7
t =-0.904 p-value = 0.375
2540
2

65



4.5

2540)

-10

66

2540

2537-2543

53.88
5,659.86



67

90.88
7,373.96

102.50
2,874.93

100.39
424.84



68

2537-2543 ( 2540)
52 1,495.084 1,548.968 53.88
52 16,375.110 22,034.968 5,659.86
52 754.538 845.417 90.88
52 9,905.915 17,279.879 7,373.96
52 168.494 65.992 -102.50
52 937.780 -1,937.146 -2,874.93
52 101.51 201.90 100.39
52 803.94 1,228.78 424.84
4-26
2537-2543 ( 2540)
1.80
14.8
9
t=-2.314 p-value = 0.034



t=-2314
0.024
t=-2.262

2540

10

p-value = 0.017
2540

15
115

t=-2.262

2540

10

4-27

p-value = 0.012

2540

69

p-value =



4-26

52

52

52

52

52

52

2537-2543 (

42.00 43.80

57.00 71.80

11.90 10.40

7.70 -3.80

75.00 72.10

9.90 15.40
2540

104

104

2.90

5.50

2540)

1.80

14.80

-1.50

-11.50

-2.90

5.50

-2.314

-2.262

t

-2.314

-2.262

0.327

p-value
.017
012

p-value

0.034

0.024

0.746



p-value = 0.746

A3

Investment Climate Surveys

71

t=0.327

2540



4 - 28

231

155.02

-1

1113:

1,092.58

17711

2540

2537-2543 (

K

81.56

2540)

72

50.88



p-value

0.323

52

52

52

52

52

52

2537-2543 ( 2540)
115.95 19751
1,426.26 2,518.84
80.57 82.88
966.85 1,017.73
189.35 -8.05
1,955.58 1,778.98
2537-2543 (
1.06
1.93
11

2540

81.56

1,092.58

231

50.88

-155.02

-177.11

2540)

t = 0461

73



74

7.67 ,
1.95

t 1019 p-value =
0.310
2540

11.72
8.26

t = 0.658 p-value = 0.512

2540



75

2537-2543 ( 2540)
( ) t p-value

52 10.80 9.74 -1.06
0461 0.323

52 9.19 11.12 193

52 754 -0.13 -7.67
1.019 0.310

52 6.32 4.37 -1.95

52 13.20 1.48 -11.72
0.658 0.512

52 15.10 6.84 -8.26

52 729 194.8 121.9
-0.644 0.524

52 60.6 -104.0 -164.6

121.9
164.6

t- -0.644



p-vaiue = 0.524

5,000

50

2540

4 - 25)

A3

12

76
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